Phys102 ( Quiz # 7 (Ch.23&24)
Name: ID #

1- Consider a metallic spherlcal shell of inner radius 5 cm and outer radius 8
cm. A point charge ql= -5 micro-C rests at the center of the shell. The

metallic shell carries a net charge q2= +10 micro-C. Determine the electric
field at:

a) 4 cm from the center of the shell.
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b) 7 cm from the center of the shell.
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¢) Find the net charge on the inner and outer surfaces of the shell.
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2- The following figure shows two charges, q; = +5¢ and q, = -2e,
Where:
e = charge of electron = 1.6 x 107° C q A
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a) What is the electric potential at point A? /"
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b) Calculate the work we must do in order to bring Q = +10e, initially at rest
from infinity to point A along the dashed line?
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